Factorizacion de polinomios.

Descomponer en factores 2x4 —12x3 +]8x2 :2x2 (XZ —6x+9):2x2 (x—3)2

I -6 9

3 3 -9
I -3 0

3 3 Divisores de 9: 1,3y 9 Raices: 3 una raiz doble
I 0
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a) x —6x"+11x—6=(x—1)(x-2)(x-3)

I -6 11 -6
1 1 -5 6

I -5 6 0
3 3 -6

I -2 0
2 2

I 0

b) 2x’+6x° —x—30=nolo podemos descomponer
2 6 —1 —-30

-5 —-10 20

2 -4 19




¢) X +7xX°+14x+8=(x+1)(x+2)(x+4)

1 7 14 8
1| -1 -6 -8

I 6 8 0
—2| -2 -8

I 4 0
—4| -4

1 0

4)
3x7 —=24x° +48x =

=3x(x2 —8x+16)=3x (x—4)

1 -8 16
5x°+20x° = 4 4 -16
=5x°(x+4) 1 —4 0
4 —4
1 0

5¢°+20x°  5xP(x+4)  Sx(x+4)
3x° =24x° +48x  3x(x—-4) 3(x—4)

Pdg85 21cyd, 22 byc



